

HIMACHAL PRADESH  
PUBLIC WORKS DEPARTMENT

No.PWN/CB/WA-II/FCA-15/2025-  
To

6838

Dated: 05/12/2026

The Divisional Forest Officer,  
Nahan, District Sirmaur (H.P.).

**Subject:-** Diversion of 2.355 ha of forest land in favour of HPPWD for the construction of link road from Gulriya Dhang to Nero Kotri (km. 0/0 to 4/935), within the jurisdiction of Nahan Forest Division, District Sirmaur, H.P.  
Online proposal no:-FP/HP/ROAD/140966/2021

**Reference:** Letter no. I/149460/2025 dated 17-12-2025 from Sub-Office, Shimla (Regional Office, Chandigarh), Ministry of Environment, Forest and Climate Change, Shimla, Himachal Pradesh - 171001

Sir,

With reference to your letter wherein certain queries have been raised, we respectfully submit the following for your kind consideration:

Sl. No.	Observations	Reply
1.	In reference to the observation No-1, administrative and financial approval of the instant proposal was sought from State Govt. In reference to this, State Govt. has submitted the Admin approval; however it is not clear whether the instant proposal is part/extension of other proposal or this itself a separate proposal. The State Govt. needs to clarify the same and also provide a copy of the same showing the name.	<p>The instant proposal is an independent and standalone proposal and does not form part of, nor is it an extension of any other proposal (i.e. itself a separate proposal) submitted earlier or under consideration. It is submitted that, as per the <b>Budget Book reference enclosed herewith</b>, the required budget for the construction of the link road from <b>Gulriya Dhang to Nero Kotri (Km 0/0 to 4/935)</b> has been duly provided by the <b>Finance Department, Government of Himachal Pradesh</b>, under the <b>Budget for the financial year 2023-2024</b>, which was <b>presented before the Himachal Pradesh Legislative Assembly on 17th March, 2023</b>.</p> <p>The <b>Administrative &amp; Expenditure Sanction (A&amp;ES)</b> for the proposed road is presently under process at the competent authority level. Due to the prescribed procedural requirements, some time is required for its final issuance. It is hereby submitted that the approved A&amp;ES shall be furnished <b>prior to Stage-II approval</b>, along with the compliance report, as per applicable guidelines.</p> <p>In view of the confirmed budget provision by the Finance Department, Government of Himachal Pradesh, it is humbly requested that the proposal may kindly be considered and <b>Stage-I (in-principle) approval</b> may be granted to enable further processing of the project.</p> <p>Same has been uploaded in additional information at <b>Sr. No. 26</b>.</p>
2.	RD wise length of the proposed alignment duly authenticated by competent authority.	<p>The <b>RD-wise length of the proposed alignment</b>, duly authenticated by the competent authority is enclosed herewith for ready reference.</p> <p>Same has been uploaded in additional information at <b>Sr. No. 19</b>.</p>

This is submitted for your kind consideration and necessary action.

Executive Engineer  
Q & R Division  
HPPWD Nahan  
CL

हिमाचल प्रदेश सरकार  
हित विभाग  
GOVERNMENT OF HIMACHAL PRADESH  
FINANCE DEPARTMENT



## नव व्यय अनुसूची के परिशिष्ट

### APPENDICES TO SCHEDULE OF NEW EXPENDITURE

State Road.

MP HPPWD / CRF

खण्ड-I  
VOLUME-I  
वर्ष 2023 - 2024

For the year 2023-2024

(हिमाचल प्रदेश विधान सभा में 17 मार्च, 2023 को प्रस्तुत किया गया)  
(Presented to the Himachal Pradesh Legislative Assembly on 17<sup>th</sup> March, 2023)

Govt. of H.P. HPPWD  
Himachal Div. B.R. B.T.  
B.T. B.R. B.T.

Attached

Printed by :  
THE CONTROLLER, PRINTING AND STATIONERY, HIMACHAL PRADESH, SHIMLA-5

Executive Engineer  
B&R Division  
HPPWD Nahan

संख्या क्रमांक	कार्य का नाम	वास्तविक वर्ष	स्थीरत वर्ष		वर्ष विविध वर्ष
			2022-2023	2022-2023	
5054-04-337-02		वर्तुमानित वर्ष 31 मार्च-2022-वर्ष	2022-2023	2022-2023	2023-2024
2022-307-3280	सड़क निर्माण सी.डी. मेटलिंग व टारिंग सहित कोलीवाला से जावल का बाग होते हुए विजेता फैस्टी तक सड़क का निर्माण कार्य (लोक निर्माण विभाग नाहर मण्डल)	NHM	0	28000	26000
2022-307-3279	C/o Link Jadana to Kuna-4 KM.	NHM	0	1000	1000
2022-307-3278	सड़क निर्माण सी.डी. एवं पुल सहित गाव भाटार, गाव सच्चालका, गाव भारीवाला व गाव छाकड़ावाला के लिए सड़क निर्माण (लोक निर्माण विभाग नाहर मण्डल)	NHM	0	26000	25000
2022-307-3276	C/o Link Road imiba to demaina-1 KM.	NHM	0	1000	1000
2022-307-3275	✓ सड़क निर्माण सी.डी. सहित बर्मा पापड़ी-कोलीवाला भूँड़ मुख्य मार्ग से रुग्न नदी पर पुल का निर्माण करते हुए गाव नेरो एवं कोटडी के लिए सड़क का निर्माण (लोक निर्माण विभाग नाहर मण्डल)	NHM	0	25000	25000
2022-307-3274	सड़क निर्माण सी.डी. सहित बजारी पुल से रामपुर केम्बडा बाया बाईवाला व मसाडा पुल से रामपुर केम्बडा (लोक निर्माण मण्डल नाहर)	NHM	0	25000	25000
2022-307-3273	C/o Link Road Badol to Thandiya-10 KM.	NHM	0	1000	1000
2022-307-3271	C/o link road from Salwala to vilalge Dhamon in GP Poka.	NHM	0	25000	25000
2022-307-3270	C/o Link Road Badol to Jarwa-7.00 KM	NHM	0	1000	1000
2022-307-3269	C/o link road to Village Sanga in GP, Kando Cheog.	NHM	0	25000	25000
2022-307-3267	माननीय विद्यायक पद्धाद से स्कीम प्राप्त होने पर शामिल की जायेगी	NHM	0	25000	25000
2022-307-3266	C/o Link Road dhar kench to Gueudhy-1.5 KM	NHM	0	1000	1000
2022-307-3265	माननीय विद्यायक पद्धाद से स्कीम प्राप्त होने पर शामिल की जायेगी	NHM	0	25000	25000
2022-307-3136	संपर्क सड़क भटेवडी से भोग का निर्माण	NHM	0	1000	1000
2022-307-3135	संपर्क सड़क पराडा बघाडा का निर्माण	NHM	0	1000	1000
2022-307-2982	C/o link road from Powor to Mujag.	NHM	0	1000	1000
2022-307-2980	C/o link road from Thod to Ser.	NHM	0	1000	1000
2022-307-2979	C/o link road from Plau to Grau.	NHM	0	1000	1000
2022-307-2978	C/o link road from Chariya to Kotti.	NHM	0	1000	1000
2022-307-2977	C/o link road from Sheel moad to dayni khilag to bhawal.	NHM	0	1000	1000
2022-307-2976	C/o link road from Akhrot farm to Thonta-Uagali Mandir to Punnerdhar.	NHM	0	1000	1000
2022-307-2975	C/o link road from Nohra Bazar to Shri Vijat Maharaj Mandir Kudawan.	NHM	0	1000	1000
2022-307-2974	C/o link road from Solan Meenus road to Hartzan basti Sotani.	NHM	0	1000	1000
2022-307-2972	C/o link road Akhrot farm to Matida.	NHM	0	1000	1000

1000 50000

Executive Engineer  
B&R Division  
HPPWD Nahan

Diversion of 2.355 ha of forest land in favour of HPPWD for the construction of link road from Gulriya Dhang to Nero Kotri (km. 0/0 to 4/935), within the jurisdiction of Nahan Forest Division, District Sirmaur, H.P.

Proposal No.:

Date of proposal:

**PURPOSE WISE BREAK OF TOTAL LAND REQUIRED**

Sl. No.	Type	RD (km)	Length (m)	Width (m)	Area (Sqm)	Area (ha.)
1	Forest	0/0 to 0/120	120	6	720	0.072
2	Bridge 1	0/120 to 0/170	50	6	300	0.03
3	Non-forest	0/170 to 0/585	415	6	2490	0.249
4	Forest	0/585 to 2/945	2360	6	14160	1.416
5	Non-forest	2/945 to 3/015	70	6	420	0.042
6	Forest	3/015 to 3/360	345	6	2070	0.207
7	Non-forest	3/360 to 3/795	435	6	2610	0.261
8	Bridge 2	3/795 to 3/895	100	6	600	0.06
9	Non-forest	3/895 to 4/135	240	6	1440	0.144
10	Forest	4/135 to 4/500	365	6	2190	0.219
11	Forest	4/500 to 4/935	435	6	2610	0.261
12	Dumping site 1 (Forest)	0/0 to 0/060	60	30	1800	0.18
13	Dumping site 2 (Non-forest)	0/200 to 0/260	60	30	1800	0.18
14	Dumping site 3 (Non-forest)	0/350 to 0/410	60	35	2100	0.21
15	Dumping site 4 (Non-forest)	3/800 to 3/860	60	25	1500	0.15
<b>Total Forest Land</b>						<b>2.355</b>
<b>Total Non-Forest Land</b>						<b>1.326</b>

Executive Engineer  
B & R Division  
HPPWD Nahan

Countersigned by: -

Divisional Forests Officer  
Nahan Forest Division  
Office Seal  
Date:-